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Oops!  This one's assigned!

(c)  Repeat part (a) with epsilon just a letter.  In other words, prove that the limit 
as x approaches 2 of 4x  is 8.

For a linear function, the delta is pretty easy to find, because the SLOPE of the linear 
function determines how fast the function grows, and if you know how fast it grows, it's easy 
to make the window skinny enough to keep the function from escaping from the top and 
bottom of your "epsilon­delta window"
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This one's easier than it looks...
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WINDOW:
xmin:  15
xmax:  20
xscl:  1
ymin:  700
ymax:  1300
yscl:  50
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on the small side, so make it something like 0.04 for your tolerance in the measure 
of the radius.
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Your textbook thinks of this as a graphing calculator question.  I  think of it as 
an algebra question.
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